IlpeoOpa3zoBaHue
BbIPaKeHUs
Asinx+Bcosx k BUay

Csin(x+t)
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J sanava L

* [lpeobpasyem BbipaxeHne Asinx+Bcosx

» Myctb C2=A%+B? ,Torga |C =+ A% + B’
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3Has, 4To sin’a + cos?a = 1, UMeeM:

A B .
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J 3aava L

* YynuTbiBad 3TO UMEeM:

. A B
Asinx+ Bcosx = C(—smnx+—cosx) =

C C
C(costsinx +smzcosx) = Csin(x +¢)

Utak, Asinx+Bcosx=Csin(x+t), rae ¢ -/ 4> + B2

t= arcsinB/C

N a




_J nipumen L

Pewuntb ypaBHeHMe:  3sinx+4cosx=5
PelweHue: Hmeem 3sinx+4cosx =5
: 4 :
C:\/32 +4% =5 5(2smx+Scosx):Ssm(xH):S
Pewunm ypaBHeHUue 5sin(x+t)=5
sin(x+t)=1
/[
X+t=—+2nk
2
T 4
OTBeT: X = 2 t | 27Tk , Qe t=arcsin g

N a




J NMpumep 2.

[Mpeo6Gpasyem BbipaxeHue 5sinx-12cosx

C =+25+144 =13

Hmeem, Ssinx —12cosx =
5 12

13(—sin x cosx)=13sin(x—¢
(13 3 ) (x—1)
12
[ = arcsin —
13




